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(Maximum Likelihood Estimation)2L

1= Utility
V 1= Representative utility

6 = Random utility

Representative utility

Random utility

20

Windows. ' (

2

23

Multinomial LogitD

(Behaviour  Equation)

Maximize utility

T Y N )

Deterministic utility

= Kel &k

utility

SPSS for
,2544).

(Maximum Likelihood Estimation)



Distribution)

P @)

i Utility i

Vit+el > Vj+el

p,(i>= Prob[Uin>ujq

P 1(i)
* = Vi+en
in = V_h+ ejn
= Prob [vin+ eh > V.1+ e ji

Prob[Vin-Vijn > ejn- eJ

ejn- el Vijn- Vin
Logistic Distribution
Weibull (Independently and

Cumulative Probability Function : CDF

[ (&) - exp [- e~Uen)]: >0

Utility

©)

. (4

24

Identically Weibull
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Probability Density Function : PDF

f (e) = Ue -uie- ) exP [- e u(e-*>]

a location parameter

a positive scale parameter

Mode =
Median = +Y/
Variance =7 2/ Gif
(Y Euler Constant 0.577)
pn@) = Prob [Vin-Vjn > e jn-e in
.(6)
1+e u(Vin-Vin)
(7
Ivin 1 N jn

Binary Logit Model

Multinomial Logit Model

11
)

P Q)

Jn
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Multinomial Logit
Probabilistic ~ Choice

Deterministic (All or Nothing)

Multinomial Logit
(Utility)
Multinomial Logit
Independent from Irrelevant
Alternatives  Property
Weibull
2
Representative utility (V3
Pl =exp [V exp[VI =exp[VZ ... 9
PG) exp[Vij]llz exp[VJ exp [Vj]

(General Form)

Z1= log FL, = + bjjndj + bj2anc2|+ bj3Anc3i+ bjjnc”
P4 + bj50ccl®* bjgOcc2, + b .70cc3, + b jgOcch
+ b BBex,+ b JAge, + b,1Edu + b j2Zone,
+ b j13Antl,+ b jl4nt2j + b j18nt3i
+ bj,6Sourceli+ bjI7 ource2i+ b 18 ource3 + bjl9%Sourcedj+ b XD ource5,
+ bj2 Partnerl 1+ b j2Partner2i+ b j2BPartner3,

+ b &4Time, L. (10

H, (Probability)
i j i =123 4

Multinomial Logit



=4 Baseline Catagory
] i
1=1
j=2
]=3
j=4
( © (Zone;)
TCEY) (Age”
(Occ,) (i)
(Sex,) (Source,)

(Partner,)

(Time,)

0= - + 1= - + + + /- + /-

PF1=f(Inc, Occ,Sex, Age, Zone, Edu, Int, Source,, Goup, Time)
+ +/- +/- +/- - +/- + +/- +/- +

FR2=f(nc, Occ,Sex, Age, Zone, Eou, Int, Source,, Group, Time,)

+ +/- +/- - +/- +/- + +/- +/- +
AR3=f(nc, Occ,Sex, Age, Zone, Edu, I, Source, Group, Time,)
+ +/- +/-  +/- +/- +/- + +/ +/- +

p=f(nc, Occ,Sex, Age, Zone, Edu, Int, Source, Group, Time)

27

(11)

(12)

(13)

(14)



a)

Ind

Inc2

? ()

18(

2541)

40,000

30,001 -40,000

20,001 -30,000

10,000-20,000

10,000

10,000

10,000 - 30,000

30,000

14-54.

2541 "

0)

28



Occ2 = 1 A
= 0
Occ3 = 1
3B
= 0
Occ4 = 1 -
2
= 0
/
{Sex)
Sex = 1
= 0
(AgeJ
3 " 2544 20( - 2544) : 4-10.
2 - 2541 "

18( - 2541) : 4-54.



(Zonen

1

2
Zone = 1
= 0

(EdU i)
Edu = 1
= 0



4

Partnerl

Partner2

Partner3

N(Source,)

Sourcel

(Partner®

31



3.2

Source?2

Source3

Source4

Sourceb

(Timei)

32



2545

321

(Non-Group

6.80%

)

5

,2543)

(Non-GroupTourists)

()
)
2544 -
44.29% (
50%
2543
18.74%
2543(



(Accidental

, 2541), 9.

Sampling)
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3.2.2

2543

= 300

31

140

160
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